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(O� HVWXGLR� GH� ORV� SURFHVRV� GH� PDQXIDFWXUD� SURSRUFLRQD� XQD� EDVH� SDUD� ORV�

FRQRFLPLHQWRV� DYDQ]DGRV� GH� PDQXIDFWXUD� LQWHJUDGD� SRU� FRPSXWDGRUD�� (V� GH� VXPD�

LPSRUWDQFLD�TXH�ORV�LQJHQLHURV�HVWpQ�SUHSDUDGRV�SDUD�FRQRFHU�ODV�GLIHUHQWHV�IRUPDV�HQ�

TXH� ORV�PDWHULDOHV� SXHGHQ�SURFHVDUVH�DVt� FRPR� ODV� SURSLHGDGHV�GH� FDGD�XQR�GH� ORV�

PLVPRV��

/RV�LQJHQLHURV�GHEHQ�FRPSUHQGHU�ODV�YHQWDMDV�\� OLPLWDFLRQHV�TXH�RIUHFH�HO�PDTXLQDGR�

FRQYHQFLRQDO� FRQWUD� HO� PDTXLQDGR� DXWRPDWL]DGR�� FRQ� HO� REMHWLYR� TXH� ORV� LQJHQLHURV�

VHDQ�FRPSHWLWLYRV�\�SURGXFWLYRV�HQ�OD�LQGXVWULD�

8QR� GH� ORV� SURFHVRV� GH�PDQXIDFWXUD�PiV� HPSOHDGRV� HQ� OD� LQGXVWULD� HV� OD� IXQGLFLyQ��

(VWD�VH�HQFDUJD�GH�OOHYDU�ORV�PHWDOHV�KDVWD�HO�SXQWR�GH�IXVLyQ��SDUD�TXH�HO�PHWDO�DGRSWH�

OD�IRUPD�GHVHDGD�D�WUDYpV�GH�XQ�PROGH��

'HQWUR� GHO� SURFHVR� GH� IRUPDFLyQ� GH� XQ� LQJHQLHUR�� HO� FRQRFLPLHQWR� GH� HVWH� SURFHVR�

SHUPLWLUi�WRPDU�GHFLVLRQHV�WpFQLFDV�D�OD�KRUD�GH�GLVHxDU�SURGXFWRV�R�GLULJLU�RSHUDFLRQHV�

TXH�LQYROXFUHQ�ORV�SURFHVRV�GH�IXQGLFLyQ�

4XLHQ�HVFRJH�VHU�LQJHQLHUR�PHWDOXUJLVWD��GHEHU�GH�HVWDU�HQWHUDGR�GH�OR�VDFULILFDGR�TXH�

HV�HVWDU�LQPHUVRV�HQ�HVWD�FDUUHUD��HQ�HVWH�FDVR�HVSHFLDO�OD�PHWDOXUJLD�SRVW�H[WUDFWLYD�R�

GH�WUDQVIRUPDFLyQ�

/D�PHWDOXUJLD�SRVW�H[WUDFWLYD�VH�GLYLGH�HQ��SODQWDV�GH�VLGHUXUJLD��IXQGLFLyQ��WUDWDPLHQWRV�

WpUPLFRV�� UHFXEULPLHQWRV�� ODPLQDFLyQ�� WUHILODGR�� IRUMD�\�RWURV��/D� LQGXVWULD�TXH� IXQGH�HQ�

KRUQRV�\�YLHUWH�HO�PHWDO�HQ�PROGHV�GHVSXpV�GH�KDEHU�HPSOHDGR�XQ�PRGHOR��SDUD�OR�FXDO�

KD�XWLOL]DGR�HO�DUWH�\� OD�FLHQFLD�FRQ�HO� ILQ�GH�REWHQHU�SLH]DV��HV�FRQRFLGD�VLPSOHPHQWH�

FRPR IXQGLFLyQ�
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(O�FDOHQWDPLHQWR�SRU� LQGXFFLyQ�VH�DSOLFy� LQGXVWULDOPHQWH�D� OD� IXVLyQ�GH�PHWDOHV��FX\R�

SULQFLSLR�GH�IXQFLRQDPLHQWR�VH�EDVD�HQ�KDFHU�FLUFXODU�XQD�FRUULHQWH�DOWHUQD�D�WUDYpV�GH�

XQD�ERELQD��LQGXFLHQGR�FRUULHQWHV�SDUiVLWDV�R�GH�)RXFDXOW�HQ�HO�LQWHULRU�GH�OD�VXVWDQFLD�

FRQGXFWRUD�� HVWDV� FRUULHQWHV� GLVLSDQ� FDORU� SRU� HIHFWR� -RXOH� D� OD� FDUJD� PHWiOLFD�� /RV�

GLIHUHQWHV�VLVWHPDV�TXH�FRQIRUPDQ�DO�KRUQR�GH�LQGXFFLyQ�VRQ��� (O�LQGXFWRU��,QGXFH�ODV�

FRUULHQWHV� SDUiVLWDV� R� GH� )RXFDXOW� HQ� HO� PDWHULDO� FRQGXFWRU�� � (O� UHYHVWLPLHQWR�

UHIUDFWDULR��3URWHJH�D�OD�ERELQD�GH�LQGXFFLyQ�GH�ODV�DOWDV�WHPSHUDWXUDV�SURYHQLHQWHV�GHO�

PDWHULDO� D� IXQGLU�� � 6LVWHPD� GH� DOLPHQWDFLyQ�� 3URYHH� DO� VLVWHPD� OD� SRWHQFLD� HOpFWULFD�

QHFHVDULD�SDUD�OD�IXVLyQ�GH�OD�FDUJD�� � 6LVWHPD�GH�UHIULJHUDFLyQ��(QIUtD�DO� LQGXFWRU�TXH�

VH� FDOLHQWD� SRU� HIHFWR� -RXOH�� SURYRFDGR� SRU� OD� FRUULHQWH� GH� DOLPHQWDFLyQ�� � &LUFXLWR�

UHVRQDQWH�VHULH��(V�HO�HQFDUJDGR�GH�OD�UHJXODFLyQ�GHO�IDFWRU�GH�SRWHQFLD��� 6LVWHPD GH�

FRQWURO��5HJXOD�OD�SRWHQFLD�GHO�HTXLSR�YDULDQGR�OD�IUHFXHQFLD�GH�DOLPHQWDFLyQ��

(O� SDWUyQ� GH� FDUJD� PHWiOLFD� GH� ORV� KRUQRV� DUFR� HOpFWULFR� VH� HYDO~R� FRQ� ILQHV� GH

RSWLPL]DU� OD� SURGXFFLyQ� GH� DFHUR� OtTXLGR� FRQ� FKDWDUUD� \� FRQ� EULTXHWDV�� HVWD

LQYHVWLJDFLyQ� FRQVLVWLy� HQ� OD� SRVLEOH� UHGXFFLyQ� GH� FRVWR� PHGLDQWH� XQD� HYDOXDFLyQ

WpFQLFD��DVt�FRPR�WDPELpQ�VH� WRPy�HQ�FXHQWD�HO�ELHQHVWDU�R�DIHFFLyQ�TXH RFDVLRQD�HO�

FRQVXPR�GH�OD�FKDWDUUD�\�OD�EULTXHWD�HQ�HVWRV�KRUQRV��(VWH�HVWXGLR�VH RULJLQy�D�FDXVD�

GH�TXH�OD�FKDWDUUD�XWLOL]DGD�GHQWUR�GH�OD�SURGXFFLyQ�KD�WHQLGR�XQ DXPHQWR�HQ�VXV�FRVWRV�

\�VH�TXLHUH�HYDOXDU�HFRQyPLFDPHQWH�FXDO�VHUtD�HO FRPSRUWDPLHQWR�GH�ORV�FRVWRV�\�GH�OD�

SURGXFFLyQ�FRQ�RWUR�VXVWLWXWR�FRPR�OR�HV�OD EULTXHWD��HODERUDQGR�HQ�GHWDOOH�HO�FRQVXPR�

GH� FDGD� XQD� GH� ODV� YDULDEOHV� GHO SURFHVR� GH� FRODGDV� FRPR� OR� VRQ�� �FDO�� HQHUJtD�

HOpFWULFD�� HOHFWURGR�� UHIUDFWDULR� \� OD SXHVWD� DO�PLO�� DVt� FRPR�VX� UHVSHFWLYR� FRVWR�� SDUD�

XQD�GHWHUPLQDGD�FDUJD�PHWiOLFD FRPSXHVWD�SRU��+5'��%5,48(7$6�\�&+$7$55$���OR�

FXDO� ORJUD� HVWDEOHFHU� HO SDWUyQ� GH� FDUJD�PHWiOLFR�PiV� FRQYHQLHQWH� \�PHQRV� FRVWRVR�

SDUD�OD�HPSUHVD�
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